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	12.1  Determine the velocity of the 20-kg block A after it is released from rest and moves 2 m down the plane.  Block B has a mass of 10 kg and the coefficient of kinetic friction between the plane and A is μk = 0.2.  Also, what is the tension in the cord?
Ans:   v = 2.64 m/s, T = 115 N
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	12.2  Determine the height h to the top of the incline D to which the 200-kg roller coaster car will reach, if it is launched at B with a speed just sufficient for it to round the top of the loop at C without leaving the track.  The radius of curvature at C is 

ρC = 25 m
Ans:  h = 47.5 m
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	12.3  The 25-lb block has an initial speed of v0 = 10 ft/s when it is midway between the springs A and B.  After striking spring B, it rebounds and slides across the horizontal surface toward spring A, etc.  If μk = 0.4 between the plane and the block, determine the total distance traveled by the block before it comes to rest.
Ans:  stotal = 3.88 ft
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	12.4  The 50-lb load is hoisted by the pulley system and the motor M.  If the motor exerts a constant force of 30 lb on the cable, determine the power that must be supplied to the motor if the load has been hoisted s = 10 ft starting from rest.  The motor has an efficiency of 0.76.
Ans:  P = 1.63 hp
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	12.5  The collar has a weight of 8 lb.  If it is released from rest at a height of h = 2 ft from the top of the uncompressed spring, determine the speed of the collar after it falls and compressed the spring 0.3 ft.
Ans:   v2 = 11.7 ft/s
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	12.6  The 2-lb block is given an initial velocity of 20 ft/s when it is at A.  If the spring has an unstretched length of 2 ft and a stiffness of k = 100 lb/ft, determine the velocity of the block when s = 1 ft.
Ans:  vC = 19.4 ft/s
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	12.7  The 2-kg ball of negligible size is fired from point A with an initial velocity of 10 m/s up the smooth slope.  Determine the distance from point C to where it hits the horizontal surface at D.  Also, what is its velocity when it strikes the surface?
Ans:  d = 8.53 m, vD = 10 m/s



